/SALES AGENT,

A

NPB Headquarter

NO.1, Jinxin Road,High & New Technology Zone,
Luoyang, Henan, China.471039
Tel:+86-379-63082187 +86-379-63082189
Fax:+86-379-63082196
Http://www.npbbearing.com
E-mail:chico@lycab.com.cn
shenlei@lycab.com.cn

European Sales Office
Lyc Meccanica S.r.l

Via della Costituzione 37,
35020 Albignasego(PD)
phone:+39 049 5018058
email:info@lycmec.com
d.dore@lycmec.com

BALL SCREW




N\ BALL SCREW
N/ ) @‘ .I
1. NPB Precision Ball Screws
NPB applies stringent quality control standards on every production process. With
proper lubrication and use,trouble-free operation for an extended period of time is
possible.
Table Mean Travel Deviation (+E) and Travel Variation (e) (JIS B 1192) Unit:um
Accuracy Grade Co G G2 G C5 Cc7 c10
Thread length
dBivE el +E e +E e +E e +E e +E e e e
100 3 3 35 5 5 7 8 8 18 18
100 200 35 3 45 5 7 7 10 8 20 18
200 315 4 35 6 5 8 7 12 8 23 18
315 400 5 35 7 5 9 7 13 10 25 20
400 500 6 4 8 5 10 7 15 10 27 20
500 630 6 4 9 6 11 8 16 12 30 23
630 800 7 5 10 7 13 9 18 13 35 25
800 1000 8 6 11 8 15 10 21 15 40 27
1000 1250 9 6 13 9 18 11 24 16 46 30
1250 1600 11 7 15 10 21 13 29 18 54 35  +50/300mm  +210/300mm
1600 2000 18 1 25 15 35 21 65 40
2000 2500 D 13 30 18 41 24 77 46
2500 3150 26 15 36 21 50 29 93 54
3150 4000 30 18 44 25 60 3 115 65
4000 5000 52 30 72 41 140 77
5000 6300 65 36 90 50 170 93
6300 8000 110 60 210 115
8000 10000 260 140
10000 12500 320 170
Variation per 300mm (e300) and Wobble Error (e2m) (JIS B 1192) Unit:um
Accuracy Grade co C1 c2 C3 C5 Cc7 c10
e 300 35 5 7 8 18 50 210
e 2m 25 4 5 6 8
01




BALL SCREW

Nominal Model Code of Ball Screw

Skl R 0258 05 T4 D G ch
® © ® ® | ® ©® ©® ®
&) @
Nominal Model Threading Direction
S: Single nut R : Right
S D:Double nut Eliatt
O : OFF set double nut
F: With flange ®
g C : Without flange Nominal Diameter
NI : NI type nut Unit : mm
NU : NU type nut
H: Htype nut ®
A Atype nut Lead
NH : NH nut Unit - mm

U (A solution for slide table)
Y : Y type nut
ViV itype nut
U : DIN nut
M M type nut
K : Ktype nut

®

Axial Clearance and Preload Value
PO, P1, P2, P3, P4

®

Nut Surface Treatment
S: Standard

B1:Black Oxidation

N1 : Hard Chrome Plating
P: Phosphating

N3 : Nickel Plating

N4 : Raydent

N5 : Chrome Plating

% No symbol required when plating is not needed.

= 600 = P1 = B2 + N3 N3
@ (1] @ ® @
® @
Number of Turns (Turn - Row)  Product Code
Turn:T:1 G : Ground
A:1.5(or1.7/1.8) F : Rolled
B:2.5/2.8
& 35
D:4.8 Accuracy Grade

ex (25 K E= By Co,C1,C2,C3,C5,C7,C10

Overall Length of Shaft

Unit : mm

Flange Type

N : Not cutting

S : Single cutting
D : Double cutting

®

Number of Nut
(Leave blank if only one nut is required)

Ex : Install two nuts on a shaft B2

@

Shaft Surface Treatment
S: Standard

B1:Black Oxidation

N1 : Hard Chrome Plating
P : Phosphating

N3 : Nickel Plating

N4 : Raydent

N5 : Chrome Plating

% An inspection report is provided for ground ball screws with an accuracy higher than C5.

02

hearings |

Fig 2.1.1 Screw Shaft Nominial Diameter

2-1 Nominal Model Code of Ball Screw
Table 2.1.1 Ground Ball Screw Specifications @4~32

Model No.

ad I Da
- il 0.800
6 i 0.800
1 0.800
8 2 1.200
25 1200
2 2.000
L 4 4.000
2 1.200
4 2.500
i S 2.500
10 2.500
2 1.200
s 4 2.500
10 3.175
= 20 3.175
2 1.200

4 2.381
16 S 3.175
10 3.175
16 2778
32 2.778
2 1.200

4 2.381
5 Bilits
= 10 3.969
20 365
40 3.175
2 1.200

4 2.381
8 e 73]
6 3.969
25 8 4.762
10 4.762
10 6.350
25 3.969
50 3.969
4 2.381
8 3n
6 3.969
3 8 4.762
10 6.350
20 6.350
32 4.762
64 4.762

Accuracy Grade

C7,C5.C3
C7,C5.C3
C7.C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7.C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7.C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7.C5C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3
C7,C5.C3

Threading Direction Number of
R:RightL : Left Grooves
R
R

RiL

RIL
R

RIL
R

RIL
R

-

D

Bl Mo el — B . EEEE . SE No R — B o SEEE B M BPE — B — SRR nO M NO B o R PR R o B o SRR BRI SRR o RN

Standard Code of
Shaft

SCRO0401
SCRO0B01
SCRO0B01
SCR00802
SCRO0802.5
SCRO1002
SCRO1004
SCRO1202
SCRO1204
SCRO1205-A
SCR0O1210-B
SCRO1402
SCRO1404
SCRO1510
SCR0O1520
SCRO1602
SCRO1604(N)
SCRO1605
SCR0O1610
SCRO1616
SCRO1632
SCR02002
SCRO2004(N)
SCRO2005
SCR0O2010
SCR02020
SCR0O2040
SCR02502
SCRO2504(N)
SCR02505
SCR02506
SCR02508
SCRO2510-A
SCR02510-B
SCR0O2525
SCR02530
SCRO3204(N)
SCR03205
SCR0O3206
SCR03208
SCR0O3210
SCR03220
SCR0O3232
SCR03264

BALL SCREW

Type of Nut

=il =

=

K.BSH
K.BSH
K.BSH
K
U,BSH
V,U.BSHH.A

V,LU.BSH
W.NILNU,BSH
W.NILNU,BSH

A
Y
K
VLU
V,NI,NU,BSH,H,A
'
VY HA
Y
K
LU
W NI,NU,BSH,H,A
AV
V.U
NI,NU,BSH
W
Y
Y
VLU
V.NLNUMHA
AV
V.U
WNLNU
V
3
Y




BALL SCREW N BALL SCREW
N DD
2-1 Nominal Model Code of Ball Screw 2-2 Precision Ground Ball Screw Series
Table 2.1.2 Standard Specifications @40~80 Unit : mm m 2-2-1 NPB Nut of Precision Ground Ball Screw Type
Model No. Threading Direction Nut Type Flange Type
Accuracy Grade : Ng&bﬁ;:f Standggagode & Type of Nut P =
od | Da R:Right L:Left H/A SFH/SFA (DIN)
3.175 C7.C5,C3 RIL 1 SCR04005 V, NI, NU, H, A 25
3.969 G7.C5,C3 R 1 SCR04006 V, NU é §
4.762 C7,C5,C3 R 1 SCR04008 V, NU g g
40 10 6.35 G7, C5,C3 RIL 1 SCR04010 V, NI, NU 832 [ il E
20 635 C7.C5,C3 R 2 SCR04020 v 8 g
40 635 C?7,C5,C3 o SCR04040 ¥ % B
80 635 G108, 03 2 SCR04080 Y g %
5 3175 C7.C5,C3 R 1 SCRO5005 V, H, A es d=32 d=40
10 835 C7.C5,C3 RIL 1 SCR05010 V, NI, NU
50 20 9525 C7.C5,C3 R 1 SCR05020 v SONE
50  7.938 C7:C5,.C3 R 2 SCR05050 Y A
100 7.938 C7,C5,C3 R > SCR050100 Y >
10 635  C7,C5C3 R 1 SCRO6310 V. NI, NU g ) .
® 0 ess  croscs R 1 SCR06320 V., NU 5 = \‘ = s m No-Flange
a 10 635 C7,Cs5, C3 R 1 SCRO8010 V, NI, NU %—_
20 9525 G7.C5.63 R 1 SCR08020 V.U 5
Ll
Table 2.1.3 H, A-type Specifications @16~50 Unit - mm
Model No. Threading Direction SrUen
Accuracy Grade Ng&b‘?;:f Type—sigtode of Type of Nut .
od | Da R:Right L: Left [
12 10 25 C7.C5.C3 R 1 SSR01210 H, A «E_
5 2778 G7. G563 R 1 SSRO1605 H, A 5
10 2778 C7.C5,03 R 1 SSR01610 H, A B
% 16 2778 Cf: CoeCa R 1 SSR0O1616 H, A §-
20 2778 C7.C5,C3 R 1 SSR01620 H, A E
20 10 3.175 B7. G508 R 1 SSR02010 H, A
10 3.175 C7,Cs5,C3 R 1 SSR02510 H, A
i 25 3175 C7.C5,C3 R 1 SSR02525 H, A DFU (DIN)
10 3.969 C7.C5,C3 R 1 SSR03210 H, A U
32 20  3.969 G7 C5C3 R 1 SSR03220 H, A .
32 635 C7.C5,C3 R 1 SSR03232 H, A ;?q
10 6.35 C7.C5,C3 R 1 SSR04010 H, A & 1 AMWer — — — m
40 20 635 €7.C5,C3 R 1 SSR04020 H, A g
0 635 C7,C5,C3 R 1 SSR04040 H, A 3
10 6.35 G7.C5.C3 R 1 SSR05010 H, A S
50 20 635 C7.C5.C3 R 1 SSR05020 H, A
50  6.35 G7.C5.C3 R 1 SSR05050 H, A
¥The information is for specifications, if customized products are needed please contact NPB.
04 05




BALL SCREW

hearings |

ision Ground Ball Screw Series

2-2 Prec

Flange Type

Nut Type

SFV

DFV

SFY

(High Load External
Circulation type)

m (OFF set double nut)

=

(High Load External
Circulation type)

=

(High DM-M Rating)

07

%
Qe
O
A
|
<
[ a)

2-2 Precision Ground Ball Screw Series

Flange Type

Nut Type

SFI

SFM

DFM

—  (Strong dust-proof type)

=  (Design for Milling)

(OFF set double nut)

=

(Design for Milling)

06




BALL SCREW BALL SCREW
2-2 Precision Ground Ball Screw Series 2-2 Precision Ground Ball Screw Series
Nut Type Flange Type Nut Type Flange Type
DFS (DIN
o (CIN) BSH
x
=
g
% g+ _H i _m BSH No-Flange
2
g
2
®
= Model No. <3232  Model No. =4005
SCl
XSV
XSV
| s
- &
% = w’ No-Flange %
g z
2 =]
3
g
g
3
)
s
SFK
¥The information is for specifications, if customized products is are needed please contact NPB.
(SFK 01004)
Table 2.2.1 Preload Chart
Aw— L (SFK 02002)
(e Preload LU M-type  H,A-type Y-type V-type BSH-type K-type
K
2 PO
=
2
% SFK
2 P1 \V 2% v v vV vV
P2 Vv Vv A% v A%
P3 Vv Vv vV B v
P4 Vv
08 09




BALL SCREW

m 2-3-1 Rolled Screws

Rolled screws are made through thread roller. Generally rolled screw has a smoother operation while lowering

friction and backlash. Therefore, it gradually replaced the traditional ACME screws and trapezoidal screws.

Moreover, rolled screws can eliminate axial play by preloading nut with a cost effective pricing compare to ground

screw.

m 2-3-2 The Features of NPB Rolled Ball Screw

(1) Lead Accuracy Up to Grade C5

C7 and C10 Screws have been Standardized. C5 on request.

(2) Precision Ground Ball Nut

High Precision Ball Nut are interchangeable between ground and rolled screws.

(3) Available to ship separately

Ball screw and ball nuts can be shipped separated ensure shortest delivery time. The ball nuts

are standardized with PO preloaded, preload value can be adjusted through reballing.

m 2-3-3 Nominal Model Code of Rolled Ball Screws

Nominal Model Code of Shaft

> & 4

@
Type of Screw Shaft
SC : standard

SS : For H, NH type nut

@
Threading Direction

R : Right

155 et

®
Nominal Diameter

Unit : mm

10

05

5

@
Lead

Unit : mm

®
Product Code

F : Rolled

®

Accuracy Grade

C5,C7,C10

C7 - 1000 + N3

@
Overall Length of Shaft

Unit : mm

Shaft Surface Treatment
[J: Standard

B1: Black Oxidation

N1 : Hard Chrome Plating

P : Phosphating

N3 : Nickel Plating

N4 : Raydent

N5 : Chrome Plating

NP

hearings |

Table 2.3.1 Rolled Ball Screw Specifications @6~32

ad
6

20

25

32

Model No.
| Da
1 0.8
1 0.8
2 10
PN o
D 1.2
4 20
2 1.2
4 25
5 25
10 25
20 25
2 1.2
4 25
4 2381
5 3175
10 3.175
16 2778
32 2778
2.381
3.175
20 3.175
40 3175
2.381
3.175
10 4.762
10 6.350
25 3.969
50 3.969
2.381
3.175
10 6.350
32 4762
64 4762

Accuracy Grade

C10, C7
C10,C7,Ch
C10,C7,Cs
C10,C7,Ch
C10,C7,Cs
C10,C7,Cs
C10,C7,Cs
C10,C7,Cs
C10,C7,Cs
C10,C7,Cs

C10,C7
C10,C7,Cs

c10, C7
C10,C7,Cs
C10,C7,Cs
C10,C7,Cs
C10,C7,Cs

C10, C7
C10,C7,Cs
C10,C7,Cs
C10,C7,Cs

C10, C7

C10,C7
C10,C7,Cs
C10,C7,Cs
C10,C7,Cs
C10,C7,Cs

C10,C7
C10,C7,Cs
C10,C7,Cs
C10,C7,Cs

C10, C7

C10,C7

Fig 2.3.1 Screw Shaft Nominial Diameter

Threading Direction Number of
Grooves

R:Right L: Left
R

Sy D B D R D B D B D B D S

)
o =

RIL

1
1

- m s N

m b

Standard Code

of Shaft

SCR00601
SCR00801
SCR00802
SCR0082.5
SCRO1002
SCR01004
SCR0O1202
SCR01204

SCRO1205-A

SCR01210-B
SCR01220
SCR01402
SCR01404

SCRO1604(N)
SCRO1605
SCR01610
SCRO1616
SCR01632

SCR02004(N)
SCR02005
SCR02020
SCR02040

SCR02504(N)
SCR02505

SCR02510-A

SCR02510-B
SCR02525
SCR02550

SCR03204(N)
SCR03205
SCR03210
SCR03232
SCR03264

BALL SCREW

Type of Nut

K
K
K
K, BSH
K, BSH
K, BSH
K
U, BSH
V, U, BSH, H, A
v
Y
K
BSH
V, I, U, BSH
V, NI, NU, BSH
V, NI, NU, BSH
Y
Y
VLU

V, NI, NU, BSH, H, A

VY. H A
Y
LU

W, NI, NU, BSH, H, A

NI, NU, BSH
v
Y
Y
V. LU
V. NI NU, M, H, A
WV, NI NU
Y
Y

Overall

Unit: mm

Length of

Shaft
1000

1000

3000

3000

3000

3000

3000

6000

6000

11




2-4 Rolled Ball Screw Series
Nominal Model Code of Nut
‘ G SFU R 025 05 T4 D L N3
Fig 2.3.1 Screw Shaft Nominial Diameter (£ 4} é} (g (l) %} (% (é)
Table2.3.2 Standard Specifications @40~80 Unit: mm @
Model No. Threading Direction number of  Standard Code Overall Product Code
Accuracy Grade - G f Shaft Type of Nut Length of
od | Da R:Right L : Left rooves L e Shaft
5 32 C10,C7,C5 RIL 1 SCR04005 VNI NU, H, A @ ®
10 64 LI er Sk A ShPXe010 Xl Nominal Model Threading Direction Number of Turns (Turn - Row)
40 20 64 C10,C7 R 2 SCR04020 v 6000 ; ;
S:Single nut R:Right Turn:T:1
40 64 c10, C7 3 4 SCR04040 b S
D:Double nut L:Left A:1.5(or1.7/1.8)
80 64 c1o0,C7 R 8 SCR04080 Y S —
| & C10,C7, C5 R 1 SCR05005 V,H, A E Wit ftange @ 12.5/2.
10 6.4 C10,C7,C5 RIL 1 SCR05010 V, NI, NU RO POgs Led
50e 20 95 c10,¢7 R 1 SCR05020 v 6000 I:l type nut Nominal Diameter D:4.8
50 79 C10, C7 R 4 SCRO5050 Y U:U type nut Unit:mm ex:(2.5 x2=B2)
100 79 EIERGY 3 8 SCR050100 Y H:H type nut
= 10 6.4 C10,C7,C5 R 1 SCR06310 V, NI, NU - A:A type nut ®© @
L ]
20 95 c10, C7 3 1 SCR06320 V, NU H:H nut Lead Flange Type
0 10 64 C10,C7,C5 R 1 SCR08010 V. NI, NU o U (A solution for slide table) Unit:mm N:Not cutting
L ]
208 (95 C10,C7 R 1 SCR08020 v.u Y:Y type nut S:Single cutting
ViV type nut D:Double cutting
sap i U:DIN nut
Table2.3.3 H, A-Type Specifications @16~50 Unit: mm
M:M type nut
Model No. Threading Direction njumber of  Standard Code Overall K:K type nut
Accuracy Grade - G f Shaft Type of Nut Length of
od | Da R :Right L : Left rooves AL Shaft
12 10 25 C10, C7,C5 R 2 SSR01210 H, A 3000
28 (e 0] (e (o SSR01605 H, A
= A . Nut Surface Treatment
10 28 C10,C7,C5 R 2 SSR01610 H, A
16 3000 S:Standard
16 28 G E7, B R 4 SSR01616 H, A
B1:Black Oxidation
20 28 C10,C7,C5 R 4 SSR0O1620 H, A .
20 10 a7 EACE G, =] ) SSR02010 H, A 3000 N1:Hard Chrome Plating
o5 10 3.2 C10,C7,C5 R 2 SSR02510 H, A e P:Phosphating
25 32 C10,C7 R 4 SSR02525 H, A N3:Nickel Plating
10 4.0 C10,C7,C5 R 1 SSR03210 H, A N4:Raydent
32 20 40 c10, C7 R & SSR03220 H, A 6000 N5:Chrome Plating
32 40 c10,C7 R 4 SSR03232 H, A
10 64 c10, C7 R 1 SSR04010 H, A
m 2-3-4 Preload of Rolled Ball Screw
40 20 64 Ci6:CZC5 R 2 SSR04020 H, A 6000 -
40 64 c10. C7 R 4 SSRO4040 H A The standard preloading for Rolled Ball Screw is PO. If P1 preloading is required, please contact NPB.
10 6.4 c10,C7 R 1 SSR05010 H. A Table2.3.4 Rolled screw accuracy
50e 20 6.4 c10, C7 R 2 SSR05020 H, A 6000 BT
50 6.4 c10, C7 R 4 SSR05050 H, A Accuracy Grade (DIN) C7 C10
e300 23 50 210
XThe information is for standard production, if required accuracy grade C5 or other needs, please contact NPB.
XPlease contact NPB if the marked types ( ® ) are required.
12 13




BALL SCREW BALL SCREW
2-4-1 Nut of Rolled Ball Screw Type 2-4 Rolled Ball Screw Series
Nut Type Flange Type Nut Type Flange Type
NH/H/A SFNH/SFH/SFA (DIN) SFM
£ M
o = &.
e I . _ 3 —
2z E g
58 =
=l §
&g a
g%
= d=32 d=40
SCNH SFV
CNH
A
=
g =
=
5 - -th— Mo=Fl =
: N N all 1 i
g 5
SFU (DIN) SFY
U
Y
2 _
o o
5 = _—
< z
g g
3 3
SFI X8Y
|
ey XSY
2
g E
2 =
B g
'_U" (6]
8 5
:g &b
14 15




[ bearines |
2-4 Rolled Ball Screw Series SCNH SERIES SPECIFICATIONS
Q [m]
Nut Type Flange Type = ™
scl o -
| — I cmmp— . (- -
| [ p— N
| k‘/‘ R
h L1
g = No-Flange L2 L3
[=% L
o
g
Dimension Load Rating
K
Model No. cIN Da kgf/um
SFK D L L1 L2 L3 M R Q n Calkgf) Coa (kgf)
SCNH01205-4.8 5 2500 24 40 7 12 14 3 15 3 481 101 2105 34
( SFK 01004)
= ( SFK 02002)
( SFK 02502) SCNH01210-2.8 12 10 2500 24 45 8 15 15 3 15 3 28x1 642 1287 19
K
= SCNH01210-1.8 10 2500 24 40 11 12 14 3 15 3 181 439 827 33
5
5
=
5 SFK
5 SCNH01605-5.8 5 2778 28 4 7 20 13 5 30 3 58«1 1599 3827 49
[+
SCNH01610-2.8 10 2778 28 45 7 20 13 5 30 3 281 839 1821 23
15
SCNH01616-1.8 16 2778 28 45 7 20 13 65 30 3 181 552 1137 18
SCNH01620-1.8 20 2778 28 58 10 20 19 5 30 3 181 554 1170 14
BSH
SCNH02005-5.8 SN E o {750 F el A7 8 A E oni 5140 s B8 B B ot o144 5619 60
BSH No-Flange
SCNH02010-3.8 20 10 3175 36 55 8 20 18 5 30 3 381 1516 3833 40
SCNH02020-1.8 20 |[3175 | @6 || 55 & (=200 18 |5 |30 | 3 || 18x] 764 1758 19
16 17




3 1 ..:I : N (:Pf. .‘I ..I
N5 . & (il hol Q (Ol hole)
ﬂ-ﬂ 8-X(thr.) uho)
eXithr) S = B
ég %4 ___ﬁgg g % %é __________ w‘%g
. B
el | .
d=32
Dimension Load Rating Dimension Load Rating
K K
Model No. d | Da kgf/um Model No. d | Da kgf/um
IR AT (= | A IR EL G IR ) n Cal(kgf) Coa (kgf) T A O S A7 N ) n Ca(kgf) Coa (kgf)
SFUR01204-3+ 12 4 2500 24 40 10 40 32 30 45 -  1x3 451 709 DEUR01604-3 4 988t 98 48 10 B0 A% A0 55 ME 13 488 940
SFUR01604-3 4 2381 28 48 10 36 38 40 55 M6 3 488 940
M6 DFUR01605—-4 16 5 3175 28 48 10 100 38 40 55 M6 1x4 885 1525
SFUR01605-3 5 3175 28 48 10 42 38 40 55 1x3 666 1143
16
SFUR01605-4 v 5 3175 28 48 10 50 38 40 55 M6 x4 888 1525 DFUR01610-3+ 10 3175 28 48 10 118 38 40 55 M6 1x3 716 1232
SFUR01610-3+ 10 3475 28 48 10 57 38 40 55 ME 1x3 716 1232 O URO20043 0T T e . o .
4- ANl 1 47 44 6. 6 1x 11
SFUR02004-3 4 2381 36 58 10 42 47 44 66 M6 1x3 541 1187 20
SFURD2005-3 20 5 3175 38 58 10 42 47 44 66 M6 1x3 749 1495 DFURO2005-4 v 5 3175 36 58 10 101 47 44 66 M6 1x4 999 1994
it I [ 20 e R I () e [ e e 1994 DFUR02504-3 4 2381 40 62 10 80 51 48 66 Me 13 605 1534
SFUR02504-3 4 2381 40 62 10 42 51 48 66 M6 13 605 1534
SFURO505. 3 e Ll el Tl = sl - — DFUR02505-4 v 25 5 3175 40 62 10 101 51 48 66 M6 1x4 1119 2581
SFUR02505-4 v 25 5 3175 40 62 10 51 51 48 66 M6 x4 1119 2581 DFUR02510-4 v 10 4762 40 62 12 145 51 48 66 M6 1x4 1927 2771
SFUR02510-3+ 10 4762 40 62 10 70 51 48 66 M6 1x3 1427 2771
DFUR03205-4 v 5 3175 50 80 12 102 65 62 9 M6 1x4 1264 3402
SFUR02510-4 10 4762 40 62 12 85 51 48 66 M6 x4 1903 3695 32
SFUR03205-4 5 3175 50 80 12 52 65 62 9 M6 1264 3402 DFUR03210-4 10 635 50 80 12 162 65 62 9 M6 x4 3002 6101
SAbia 0 6% %0 @ 12 v 65 82 8 W ag el Gl DFUR04005-4 5 3175 63 93 14 105 78 70 9 M8 1x4 1407 4341
SFUR03210-4 10 635 50 80 12 90 65 62 9 M6 x4 3092 6101 40
SFURG4005—4 5 531756 €3 O3 14 B 78 70 o M8 iy 1407 4544 DFUR04010-4 10 635 63 93 14 165 78 70 9 MB 1x4 3480 7979
M8
SEURDAOID=3 a0 B0 eaa ) [8e 1 ) N1 LEEN e R | [eein it DFUR05010-4 50 10 635 75 110 16 171 93 8 11 M8 1x4 3898 10325
SFUR04010-4 10 635 63 93 14 93 78 70 9 M8 x4 3480 7779
DFUR06310-4 10 635 90 125 18 182 108 95 11 M8 1x4 4401 13611
SFUR05010-4 50 10 635 75 110 16 93 93 85 11 MB 4y 3898 10325 =
SFUR0B310-4 10 635 90 125 18 93 108 95 11 M8 x4 4401 13611 DFUR06320-4 20 9525 95 135 20 290 115 100 135 M8 1x4 7404 19008
63
SFUR0B320-4 20 9525 95 135 20 149 115 100 135 M8 qx4 7404 19008
DFUR08010-4 10 635 105 145 20 182 125 110 135 M8 1x4 4900 17366
SFUR08010-4 10 635 105 145 20 98 125 110 135 M8 x4 4900 17366 80
80
SFUR08020-4 20 9525 125 165 25 154 145 130 135 M8  4x4 8403 25345 DFUROB020-4 20 95825 125 165 25 295 145 130 135 M8 1x4 8403 25345
¥ 7 Left helix available ¥ 7 Left helix available
18 19




BALL SCREW

SFI SERIES SPECIFICATIONS

Model No.

SFIR01605-4+

SFIR01610-3+r

SFIR02005-4+r

SFIR02505-4+¢

SFIR02510-4+

SFIR03205-4+r

SFIR03210-4+r

SFIR04005-4

SFIR04010-4

SFIR05010-4

SFIR06310-4

SFIR0B010-4

20

(Qil hole)
b}
,_‘4,,,
H
Dimension
cl | 1| (eE
FE AN 15 T IR il
5 3175 30 49 10 45 39 34 45
16
100 Ba1z51 [ 94 | F5al R4l Bsr a5 Nad a5
20 5 3175 34 57 11 51 45 40 55
5 3175 40 63 11 51 51 46 55
25
10 4762 46 72 12 80 58 52 65
50 Na7s | bag | el b2l Ps2i BeR s i6s
32
10 635 54 8 15 8 70 62 9
5 3175 56 90 15 55 72 64 9
40
10 635 62 104 18 83 82 70 11
S Eae Ea asal Edoll st el Faal Bo= | oo i
63 10 635 85 131 22 93 107 95 14
80 10 635 105 150 22 93 127 115 14

¥ 7r Left helix available

1

B |
™

-
mha

@D

Ca (kgf) Coa (kgf)

1525

1232

1994

2581

3695

3402

6101

4341

7779

10325

13611

| B |
L
Load Rating

S RGBT

8 45 M6 1x4 888
95 55 Me 1x3 716
95 55 M6 1x4 999
95 55 | M | x4 1119
11 65 M6 1x4 1903
11 65 M8 1x4 1264
14 85 M8 1x4 3002
14 85 M8 1x4 1407
175 11 M8 1x4 3480
175 11 M8 1x4 3898
20 13 M8 x4 4410
20 13 Me 1x4 4900

17366

K
kgf/ pm

hearings |

Model No.

DFIR01605-4 ¥«

DFIR02005-4 +r

DFIR02505-4 ¥«

DFIR02510-4 ¥«

DFIR03205-4 +r

DFIR03210-4

DFIR04005-4

DFIR04010-4

DFIR05010-4

DFIR06310-4

DFIR0O8010-4

DFI SERIES SPECIFICATIONS

(Qil hole)

16

20

25

32

40

50

63

80

10

10

10

10

10

10

¥ 7 Left helix available

Da

3.175

3.175

3.175

4.762

3.175

6.35

3.175

6.35

6.35

6.35

6.35

30

34

40

46

46

54

56

62

72

as

105

49

57

63

72

72

a8

90

104

114

131

150

10

11

1

12

12

5

15

18

18

22

22

BALL SCREW

\

\

I

REL

Dimension

[ VA B T

75

a5

86

130

a7

145

20

148

148

1583

153

39

45

5

58

58

70

72

a2

92

107

127

52

52

62

70

82

115

4.5

55

5.5

6.5

6.5

1

1

14

14

g5

9.5

1

1

14

14

17.5

17.5

20

20

4.5

5.5

55

6.5

6.5

8.5

8.5

13

13

Q

e

M6

M8

M6

8

Ma

M8

Ma

M8

Ma

M8

n

x4

x4

x4

x4

x4

x4

1x4

x4

x4

1x4

x4

Load Rating

Ca (kgf) Coa (kgf)

888

1119

1903

1264

3092

1407

3480

3898

4410

4900

1525

1994

2581

3695

3402

6101

4341

T

10325

13611

17366

K
kaff um

21




Q (Oil hole) 728 ; " =
/.( 1 SN s (wﬁw Q (il hole)
'___-i.' 5 SIS : ; . I | o
Tl R L
— B
E|B L_'J [
H L
Dimension Load Rating Dimension Load Rating
Large Lead Model K K
No. Nl Da kgf/um Model No. d | Da kgf/um
D A E B L W H X Q n Calkf Coal(kdf) D A B L W H X Q n Calkgf) Coakgf)
SFYRO1616-36 16 16 2778 32 53 10 10 45 42 340 45 M6 18x2 1073 2551 31 SRR S 250 24 40 10 31 32 30 45 M6 281 661 1316
SFSR01210-2.8 10 2500 24 40 10 485 32 30 45 M6 2.8x1 642 1287
SFYR02020-3.6 20 20 3175 39 62 13 10 52 50 410 55 M6 18x2 1387 3515 a7 SFSRO1605-3.8 5 2778 28 48 10 38 38 40 55 M6 38x1 1112 2507
SFSR01610-2.8 10 2778 28 48 10 47 38 40 55 M6 2.8x 839 1821
SFYR02040-1.6 40 40 3175 39 62 13 10 48 50 410 55 M6 08x2 653 1597 15
SFSRO1616-1.8 15 16 2778 28 48 10 45 38 40 55 M6 1.8x1 552 1137
SFYR02550-1.6 50 50 3969 47 74 15 15 58 60 490 66 M6 08x2 976 2495 19 SFSR01616-2.8 16 2778 28 48 10 61 38 40 55 Me 28x1 808 1769
SFSR01620-1.8 20 2778 28 48 10 57 38 40 55 M6 1.8x1 554 1170
SFYR02525-3.6 25 25 3969 47 74 15 12 64 60 490 66 M6 1.8x2 2074 5494 45 SFSROZ005-3.8 & ] e w8 T lae A Tadl lee e feee T AaEd 681
SFYRO3232-36 32 32 4762 58 92 17 12 78 74 600 90 M6 18x2 3021 8690 58 SISy 10 3175 36 58 10 60 47 44 66 M6 381 1516 i
SFSR02020-1.8 20 3175 36 58 10 57 47 44 66 M6 1.8x1 764 1758
SFYR04040-3.6 40 40 6350 73 114 20 15 99 93 750 11.0 M6 1.8x2 4831 14062 70 SFSR02020-2.8 20 3175 36 58 10 77 47 44 66 M6 28«1 1118 2734
SFSR02505-3.8 5 3175 40 62 10 40 47 44 66 M6 38x1 1650 4658
3 50 50 7. 0 14. ;
SFYR05050-3.6 7938 90 135 22 20 117 112 920 140 M6 18x2 7220 21974 86 i 6 GEE i (a1 ak | Bt i G Be cad b v
SFSRO2520-28 25 20 3969 40 62 12 72 51 48 66 M6 28xi 1206 2695
SFSR02525-1.8 25 3175 40 62 12 70 51 48 66 M6 1.8x1 843 2199
SFE Series Specifications SFSR02525-2.8 25 3175 40 62 12 95 51 48 66 M6 281 1232 3421
SFSRO3205-38 32 5 3175 50 80 12 42 65 62 90 M6 3.8xi 1839 6026
A Load Rating SFSR03210-3.8 10 3969 50 80 13 62 65 62 90 M6 38x1 2460 7255
Large Lead Model d | Da K SFSR03220-2.8 -~ 20 3969 50 80 12 80 65 62 90 Me 2.8x1 1907 5482
No. g wllele Lliw mlx ol b et ek kgffum SFSR03232-1.8 32 3969 50 80 13 84 65 62 90 M6 18«1 1257 3426
a oa
o) g SFSR03232-2.8 32 3969 50 80 13 116 65 62 90 M6 28x1 1838 2329
SFSRO4005-38 40 5 3175 63 93 15 45 78 70 90 M8 38xi 2018 7589
SFER01616-3.6 16 16 2778 32 53 10 10 45 42 340 45 M6 1.8x2 1073 2551 31
SFSR04010-3.8 10 635 63 93 14 63 78 70 90 M8 38x1 5035 13943
SFER02020-3.6 20 20 3175 39 62 13 10 52 50 410 55 M6 18«2 1387 3515 37 el e RS 20 630 63 93 14 8 78 70 90 M8 28 3959 10715
SFSR04040-1.8 40 6350 63 93 15 105 78 70 90 M8 18x1 2585 6648
a3 5 3175 75 110 15 45 93 85 110 M8 3.
SFER03232-3.6 32 32 4762 58 92 17 12 78 74 600 90 M6 18x2 3021 8690 58 B i 92
SFSR05010-3.8 10 635 75 110 18 68 93 85 11.0 M8 38x1 5638 17852
SFER0D4040-3.6 40 40 6350 73 114 20 15 99 93 750 11.0 M6 1.8x2 4831 14062 70 SFSR05020-3.8 a5 20 635 75 110 18 108 93 85 110 M8 3.8x1 5749 18485
SFSR05050-1.8 50 6350 75 110 18 125 93 85 11.0 M8 1.8x1 2046 8749
SFER05050-3.6 50 50 7938 90 135 22 20 117 112 920 140 M6 18x2 7220 21974 86 S 50 B350 75 110 18 176 03 85 1.0 M8 28 4308 p—
22 23




BALL SCREW

DFS (DIN 69051 FORM B) SERIES SPECIFICATIONS

Model No.

DFSR01605-3.8

DFSR01610-2.8

DFSR02005-3.8

DFSR02010-3.8

DFSR02505-3.8

DFSR02510-3.8

DFSR03205-3.8

DFSR03210-3.8

DFSR03220-2.8

DFSR04005-3.8

DFSR04010-3.8

DFSR04020-2.8

DFSR05005-3.8

DFSR05010-3.8

DFSR05020-3.8

24

Q (0l hole)

15

25

32

31

38

48

10

10

10

10

20

10

20

10

20

Da

2.778

2778

3.175

3.175

3.175

e

3.175

3.969

3.969

3.175

6.350

6.350

3.175

6.350

6.350

28

28

36

36

40

40

50

50

50

63

63

63

T

(e

75

48

48

58

58

62

62

80

80

80

93

a3

93

110

110

110

B

10

10

10

10

10

12

12

13

12

15

14

14

15

18

18

Dimension

L W H

73 38 40
97 38 40
75 47 44
120 47 44
75 51 48
122 51 48
82 65 62
122 65 62
160 65 62
85 78 70
123 78 70
162 78 70
85 93 85
138 93 85
218 93 85

Q (0il hole)
s
L

Load Rating
X @ n  Ca(kgf) Coa (kgf)
556 M6 38x1 1112 2507
556 M6 2.8x1 839 1821
66 M6 38x1 1484 3681
66 M6 38x1 1516 3833
66 M6 38x1 1650 4658
66 M6 38x1 1638 4633
9.0 M6 38x1 1839 6026
90 M6 3.8x1 2460 7255
90 M6 28x1 1907 5482
9.0 M8 38x1 2018 7589
9.0 M8 38x1 5035 13943
90 M8 28x1 3959 10715
11.0 M8 38x1 2207 9542
11.0 M8 38x1 5638 17852
11.0 M8 38x1 5749 18485

K
kgf/ pm

41

31

50

59

61

i

i

58

91

73

109

116

hearings |

SCI SERIES SPECIFICATIONS

Model No.

SCl 01604-4

SCI 01605-4 +r

SCI 02004-4

SCI 02005-4 +r

SCI 02504-4

SCI 02505-4 +r

SCI 02510-4

SCI 03205-4 +r

SCI 03210-4

SCI 04005-4

SCI 04010-4

SCI 05010-4

SCI 06310-4

SCI 08010-4

16

20

25

32

40

50

63

80

¥ 7 Left helix available

10

10

10

10

10

10

Da

2.381

GF )

2.381

3.175

2.381

3.175

4.762

3.175

6.350

3.175

6.350

6.350

6.350

6.350

62

i

105

40

45

40

45

40

45

85

45

85

45

85

a5

85

a5

L1

L2

BALL SCREW

i
o A &
L

Dimension Load Rating

ST 1 220 I T n Cal(kgf) Coa (kgf)
9 15 3 15 1x4 973 2406
g Eop 8 5 3 x4 1380 3052
9 15 3 2 x4 1066 2987
g B S0l s 3 x4 1551 3875
9 15 3 2 x4 1180 3795
| e S 3 x4 1724 4904
13 30 5 3 x4 2954 7295
9 20 5 3 x4 1922 6343
13 30 5 3 x4 4805 12208
g (P05 3 x4 2110 7988
13 30 5 3 x4 5399 15500
158 B oMl IS 3 x4 6004 19614
13 30 6 35 x4 6719 25358
13 0 0 300 [ BN a5 B 7346 31953

K

kaff um

32

33

37

39

43

45

5

52

62

a0

72

a3

95

109

25




BALL SCREW " \ BALL SCREW
SFK SERIES SPECIFICATIONS SFH (DIN 69051 FORM B) SERIES SPECIFICATIONS
an | 3pe Q (Oil hole) _-.Er._ 5 %Q (il hole) 2 15¢
T (Ol hole) '
AU g 3! +=] _FH.
D78 aflel— Y e e Nk sy (L HH - A
DB e B |
! - | 43- Ax(thr) : i[ B-X(thr.) 8-Xithr.) _; 3
(SFK01004) L S ELBl |
4220  Shonon d=32 d=40
Dimension Load Rating Dimension Load Rating
ModelNo. d | Da o ModelNo. d | Da o
D A B L WUH X Y Z Q n Calkgf) Coakdf D AE B L W H X Q n Calkgf Coalkgf)
SFHO1205-2.8+¢ o 2500 24 40 5 0 30 32 30 45 = 2.8x1 661 1316 19
RERRN gt % AR BRES - T e @ = 2 SFHO1210-28% 2 10 2500 24 40 5 10 45 32 30 45 - 28x1 642 1287 19
SFHO1605-3.8+¢ 5 2778 28 48 ] 0 37 38 40 55 Me 3.8x1 1112 2507 30
PERARO B [ R [ | A e i S SR B e R B | e B & 9 SFH01610-2.8+ 10 2778 28 48 5 10 45 38 40 55 M6 28x1 839 1821 23
SFHO1616-1.8+¢ 16 16 2778 28 48 5 10 45 38 40 55 M6 1.8x1 Ho 1137 14
PR LB OB B e 14 SFHO1616-2.8+ 16 2778 28 48 5 10 61 38 40 55 M6 28x1 808 1769 22
SFHO1620-1.8+¢ 20 2778 28 48 i 10 58 38 40 55 M6 1.8x1 554 1170 14
SERBRIE0ZSENN) N8 N (= (0 [ e e ) e e | ) B e = 1a SFH02005-3.8+ 5 3175 36 58 7 10 37 47 44 66 M6 38x1 1484 3681 a7
SFH02010-3.8+ 10 3175 36 58 i 10 55 47 44 66 Me 3.8x1 1516 3833 40
it S I T e E SFH02020-18+ 20 20 3175 36 58 7 10 54 47 44 66 M6 181 764 1758 19
SFH02020-2.8+¢ 20 3175 36 58 ri 10 74 47 44 66 MB 2.8x1 1118 2734 29
SERRG 1 Ke o = el [ e R S | B B e | 0 Bt = SFH02505-3 8+ 5 3175 40 62 7 10 37 51 48 66 M6 381 1650 4658 43
10 SFH02510-3.8+¢ 10 3175 40 62 i 12 55 51 48 6.6 M6 3.8x1 1638 4633 45
SFKRO1004 4 2 2 46 10 34 36 28 45 8 45 M6 1x3 468 905 17 SFH02525-1.8% 25 25 3175 40 62 7 12 64 51 48 66 M6 1.8x1 843 2199 22
SFH02525-2.8+¢ 25 3175 40 B2 i 12 89 51 48 6.6 M6 2.8x1 1232 3421 34
SFKRO1204 & N (L T L O o (00 Rt (o B (G (R I I e 334 906 22 SFHO3205-38 32 5 3175 50 80 9 12 37 65 62 9 M6 38x1 1839 6026 51
SFH03210-3.8 10 3969 50 80 9 12 &HF 65 &2 9 M6  3.8x1 2460 7255 55
SFKR01205 12 4 25 24 40 6 28 32 25 35 - - - 1x3 454 772 SFH03220-2.8 20 3969 50 80 9 12 76 65 62 O M6 28x1 1907 5482 43
SFH03232-1.8 < 32 3969 50 80 9 12 80 65 &2 9 M6 1.8x1 1257 3426 27,
SFKRO1202 5 225 B (0 A B E O OEE G S (5 = I = T 675 1316 SFH03232-2.8 32 3969 50 80 9 12 112 65 62 9 M6 28x1 1838 5329 42
SFH04005-3.8 40 5] 3175 €63 93 9 15 42 78 70 9 M8  3.8x1 2018 7589 60
SFKRO1402 14 2 12 21 40 6 23 31 2 55 - - - 1x4 354 1053 24 SFH04010-3.8 10 635 63 93 9 14 60 78 70 9 M8 38x1 5035 13943 67
SFH04020-2.8 20 6.35 63 93 9 14 80 78 70O 9 M8  2.8x1 3959 10715 54
SFKRO1602 16 2 12 25 43 10 40 35 29 55 - - M6 1x4 373 1200 26 SFHO4040-18  ° 40 635 63 93 9 14 98 78 70 9 M8 18 2585 6648 34
SFH04040-2.8 40 6.35 63 93 9 14 138 78 70 9 M8  2.8x1 3780 10341 52
SFKR02002 20 2 12 50 80 15 55 65 68 65 105 6 M6 1x6 581 2284 48 SFHO5005-38 50 5 31475 75 110 105 15 42 93 85 11 M8 38x1 2207 9542 68
SFH05010-3.8 10 6.35 7% 110 105 18 60 93 &85 11 M8 3.8x1 5638 17852 79
SFKR02502 25 2 12 50 80 13 43 65 68 65 105 6 M6 1x5 540 2381 46 SFH0S020-38 20 635 75 110 105 18 100 93 8 11 M8 38 5749 18485 87
SFHO5050-1.8 50 6.35 75 110 105 18 120 93 B85 11 M8  1.8x1 2946 8749 42
S AR AVATISTE SFH05050-2.8 50 635 75 110 105 18 170 93 85 11 M8 28x1 4308 13610 65
<b 27




NP"I .‘I ..I
—
ég ‘@____ _______ ﬂ}g _ é
L.
els] <
. d=12 e
L1
N
Ny
Dimension Load Rating ﬁgj il
K TN o D F T @
Model No. el |l Da kgff um
DA TE B L WIH X @ n Ca (kgf) Coa (kgf) i [
B
d=14 L2\ g (Gil hole)
SFA1205-2.8+ 5 2500 24 40 5 10 30 32 30 45 - 28x1 661 1316 19 i
i (Internal circulation type) L
SFA1210-2.8+ 6N [F2 500 WL e 10 R A R - 28x1 642 1287 19 Ls
SFA1605-3.8+¢ 5 2778 28 48 5 10 31 38 40 55 M6  3.8x1 1112 2507 30
SFA1610-2.8+ TR (el el L EU 8 6 100 4 NE3sE NaE | 515 BB 28x1 839 1821 23
=1 2.778 48 10 43 38 40 5. ; 552 1137 . . ;
SFA1616-1.8+ 15 16 28 5 55 M6 1.8x1 14 Bimensicn Load Rating
SFA1616-2.8+ 16 2778 28 48 5 10 59 38 40 55 M6 28x1 808 1769 22 K
Model No. d | Da
SFA1620-1.8+ 20 2778 28 48 5 10 50 38 40 55 M6  1.8x1 554 1170 14 kgff um
SFA1630-1.8+ 30 2778 28 48 7 10 70 38 40 55 M6 18x1 534 1195 14 D A B L L1 N L2 Q n Ca(kgf) Coakgf)
SFA2005-3.8+ 5 3175 3 58 7 10 33 47 44 66 M6 38x1 1484 3681 37
SFA2010-38+ 20 10 3175 36 58 7 10 52 47 44 66 M6 3.8x1 1516 3833 40 BSHROO825-25 8 25 12 175 M15x1P o 285 10 3 s = 2.5x1 189 381 1
SFA2020-1.8+ 20 3175 36 58 7 10 52 47 44 66 M6  1.8x1 764 1758 19
SFA2020-2.8+ S0 EG e WEE ESE 10 72 47 44 66 M6 2.8x1 1118 2734 29 SHR O =0 10 - | [ i . i - - i il 5 L
SFA2505-3.8+ 5 3175 40 62 7 10 33 51 48 66 M6 38x1 1650 4658 43 BSHRO1004—2.5 d 5 o5 MOGAP 10 34 3 3 B _ 55 400 254 14
SFAZ2510-3.8+ o 0N 8T N a2 12 52 51 48 66 M6 3.8x1 1638 4633 45
SFA2525-1.8+r 25 3175 40 62 7 12 60 51 48 66 M6 18x1 843 2199 22 BSHRO1204-3.5 4 25 255 M20x1P 10 34 13 o - - | 35%1 804 1649 23
SFA2525-2.8+ s i clen i) T 12 B85 51 48 66 Mo 2.8x1 249 3421 34 12
SFA3205-38 32 5 3175 50 B0 9 12 35 65 62 9 M6 38x1 1839 6026 51 BSHR01205-3.5 5 25 255 M2ox1P 10 39 1825 3 - - 35 801 1644 24
SFA3210-3.8 10 3963 5) 80 9 2| ihal NEs T a2 g M6 3.8x1 2460 7255 55
SFA3220-2.8 » 20 3969 50 80 O 12 72 6 62 9 M6 28x1 1907 5482 43 BSHR01404-3 14 4 25 B2 IM2sx 1.5 0 a5 1 = - - 1x3 748 1609 26
SFA3232-1.8 32 3969 50 80 9 12 B Nes NeEE Y M6 1.8x1 1257 3426 27 BSHRO1604-3 4 2381 29 M22x15P 8 3 4 a5 B _ 153 759 1804 24
SFA3232-2.8 32 3969 50 80 9 12 110 65 62 9 M6 28x1 1838 5329 42
SFA4005-38 40 5 3175 63 93 9 14 39 78 70 9 M8 38xI1 2018 7589 60 BSHRO1605-3 16 5 3.175 325 M26x15P 12 42 1925 3 — | = | = 1077 2289 25
SFA4010-3.8 10 635 63 93 9 14 57 78 70 9 M8 38x1 5035 13943 67
SFA4020-2.8 apl Ng 350 NESH Noas g Ny S 7ee N zg B 70 D M8 28x%1 3959 10715 54 BSHRO1610-2 10 3.175 32 M2ex15FP 12 50 3 4 3 M4 1x2 779 1601 14
38
SFA4040-1.8 40 635 63 93 9 14 96 78 70 9 M8 18x1 2585 6648 34
SFA4040-2.8 40 635 63 93 9 14 136 78 70 9 M8 28x1 3780 10341 52 BSHR02005-3 28 & 3 rs| 38 FMasxTSE D 1S 458 AN I 0 - - 1x3 1211 2906 30
SRS EN S5 3175 75 110 105 15 42 93 65 11 M8 38x1 e £ £ BSHR02505-4 5 3175 43 M40x15P 19 69 3211 3 8 M6 x4 1724 4904 ar
SFA5010-3.8 RN G350 Brs FLTE B S B iR BOEE S Ma 3.8x1 5638 17852 79 o5
SFAS5020-3.8 e 20 635 75 110 105 18 98 93 B85 1 M8 3.8x1 5749 18485 87 BSHR0O2510-4 10 4762 43 M40x15P 19 84 8 6 8 ME x4 2954 7295 41
SFA5050-1.8 el Geslal || mise Fumiet|aietis | skt e | BE] Ghe ik Ma 18x1 2946 8749 42
SFA5050-2.8 50 6350 75 110 11 18 167 93 85 110 M8  28x1 4308 13610 65 ¥Standard ball nut from @8~@16 is assembled without wiper.
28 29




	CorelSDK_0001
	CorelSDK_0002
	CorelSDK_0003
	CorelSDK_0004
	CorelSDK_0005
	CorelSDK_0006
	CorelSDK_0007
	CorelSDK_0008
	CorelSDK_0009
	CorelSDK_0010
	CorelSDK_0011
	CorelSDK_0012
	CorelSDK_0013
	CorelSDK_0014
	CorelSDK_0015
	CorelSDK_0016

